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1.  (A) Whatis public debt ? Discuss in detail the sources of public debt in India. 14
OR
Discuss in detail the classical view of public debt.
(B) Choose the correct answer. 4
(1) Private debts means
(a) Borrowing of money by Central Government
(b) Borrowing of money by State Government
(c) Borrowing of money by an Individual
(d) All of the above
(2)  Which of the following economists consider the public debt as burden some ?
(a) Malthus (b) Keynes (c) Kaldor (d) Karl Marx
(3) “Resources for capital accumulation should be obtained through public
debt.” Who has given this ?
(a) Musgrave (b) Bowen (c) Larner (d) Ricardo
(4) “Burden at public debt is based on ratio of public debt and national
income.” Who has given this statement ?
(@) Musgrave (b) Domar (c) Larner (d) Bowen
2. (A) How far the Fiscal policy has succeeded in controlling inflation in India ? Discuss. 14
OR
What is Fiscal policy ? What kind of changes are observed in India’s fiscal policy
after economic reforms ? Discuss.
(B) Choose the correct answer : 4
(1) Who formulated monetary policy in India ?
(a) RBI (b) SBI (c) UBI (d) CBI
(2) What could be the main objectives of Fiscal policy ?
(a) Economic stability (b) Increasing in saving-investment
(c) Controlling inflation (d) All the above
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(3) Fiscal policy means
(a) Income-expenditure and debt policy of state.
(b) Import policy of the state
(c) Export policy of state.
(d) None of these
(4) Who declares Fiscal policy in India ?

(a) Finance Minister (b) Home Minster
(c) RBI (d) None of the above
3. (A) How the Central government allocates monetary resources to the states in India ?
Discuss. 14
OR
Discuss the recommendations of Fourteenth Finance Commission.
(B) Choose the correct answer : 3
(1)  Who was the chairman of the 13™ Finance Commission ?
(a) Y.V.Reddy (b) Urajit Patel
(c) Arun Jaitely (d) Vijay Kelkar
(2) Who allocated monetary resources to local bodies ?
(a) Central Government (b) State Government
(c) (a)and (b) both (d) None of these
(3) Under Article 293, Central Government gives to states.
(a) Loan (b) Grant-in-aid
(c) Tax onincome (d) All of the above
4.  (A) Write a detail note on deficit finance. 14
OR

Write a note on Agriculture holding tax.

(B) Choose the correct answer. 3
(1)  Which of the following is not the sources of tax revenue for Central
Government ?
(a) GST (b) Income-tax
(c) Corporation tax (d) Land revenue
(2) Primary deficit means
(a) Fiscal deficit — Interest payments
(b) Revenue receipts + Revenue expenditure
(c) Total receipts — Total expenditure
(d) Total receipts + Total expenditure
(3) Budget Deficit means
(a) Total receipts — Total expenditure
(b) Revenue receipts — Revenue expenditure
(c) Total receipt + Total expenditure
(d) Revenue receipts + Revenue expenditure
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1. (A) Discuss in detail models of interaction between agriculture and rest of the
economy. 14
OR

Give the meaning of agro-based industries. Discuss the problems in the
development of agro-based industries.

(B) Choose the correct answer. 4
(1)  Which of the following is scope of the agriculture economics ?
(a) Micro (b) Macro
(¢) (a) & (b) both (d) None of these

(2)  Which of the following is agro based industry ?
(a) Sugar (b) Computer (c) Petroleum (d) All of the above
(3)  Which of the following is food crop ?

(a) Rubber (b)  Sugar (c) Tobacco (d) Wheat
(4) The importance of agriculture arises from the following basic facts :
(a) Sources of raw material (b) Sources of employment
(c) Need sources of food (d) All of the above
2. (A) Discuss in detail sources of institutional and non-institutional credit in India. 14
OR

Discuss the role of “NABARD” in development of agriculture sector.

(B) Choose the correct answer : 4
(1)  Which is main function of NABARD.
(a) Development of Agriculture sector.
(b) Development of Industrial sector.
(c) Development of Cottage industries
(d) None of these
(2) NABARD came into force in the year.
(a) July 12,1982 (b) August 12, 1982
(c) July 12,2000 (d) None of these
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(3)  Which of the following are the sources of non-institutional credit ?

(a) Jamindar (b) Saraf
(c) Big farmers (d) All of the above
(4) Which of the following is the source of institutional credit ?
(a) Commercial Banks (b) Jamindar
(c) RBI (d) None of these
Critically evaluate land reform measures in India. 14
OR

Discuss the land distribution structure and trends in India.

Choose the correct answer. 3
(1) Zamindari system was created by the British government in the year

(a) 1792 (b) 179% (c) 1795 (d) 1796
(2) In India land reforms measures were introduced in .
(a) 1956 (b) 1957 (c) 1952 (d) 2000

(3) Which of the following is tenancy reform ?
(a) Security of tenure for tenants  (b) Regulation of rent
(c) Conferment of ownership (d) All of the above

Discuss the various types of agricultural market in India and classify the concepts
of marketable surplus. 14

OR
Discuss the recent trends in agricultural growth in India.

Choose the correct answer. 3
(1)  Which of the following is the principle marketing function ?

(a) Dispersion (b) Grading
(¢) (a) & (b) both (d) None of the above
(2)  Which of the following is the factor affecting marketable surplus ?
(a) Size of farm (b) Level of production
(c) Consumption pattern (d) All of the above
(3) FCI means
(a) Fiscal Commodity Index (b) Financial Corporation of India
(c) Food Court of India (d) Food Corporation of India
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